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Instructions for the Candidates
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This paper consists of sixty (60) multiple-choice type of questions,

out of which the candidate would be required to answer an

fifty (50) questions. In the event of the candidate attempting
more than fifty questions, the first fifty questions attempted
by the candidate would be evaluated.

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(€73) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iit) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Paper I
gyutent I

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : (1) This Paper contains Sixty (60) multiple choice questions, each question
carrying Two (2) marks.
(2) Attempt any Fifty (50) questions.
GoAT : (1) A1 JEAUGehd |16 (60) Sgee TRA foiel SR Yo TEAen g (2) 9
TR,
(2) A TG (50) HEAET SWfor.

1. Application of course-content in | 1. q’lB\'ﬂEh‘H’l?ﬁFT SINPICERE I PRI

day-to-day life is mainly achieved IAATSA TS 3feren U
through P e 3:”%‘
(A) Demonstration method (A) feeei agd
(B) Project method (B) Ucd Ugd
(C) Field visit (C) &% 92 Ugd
(D) Inquiry method (D) T==1 9&d

9. In order to monitor students’ | 2. faumeat=n U=l T®RE HEA Al

progress and to modify teaching MR ST siee] HIoIESy

accordingly, the best method of & et Ugd o

evaluation is :

(A) SRR HoIHIA

(A) formative evaluation

, , (B) HehIeh HeIHIA
(B) summative evaluation

(C) qualitative evaluation (C) TomcH HEHT

(D) objective-based evaluation (D) Sfesereanfd geomm=
3 [P.T.O.




The question, “How would you
prove that the earth is round or
not round ?” is based on the ...........

objective.

(A) Comprehension
(B) Evaluation
(C) Application
(D) Synthesis

Which of the following is not essen-
tial for good teaching ?

(A) Human-relations skills
(B) Communication skills
(C) Attractive personality

(D) Knowledge of appropriate
teaching methods

The most important purpose of

‘guidance’ of students is to :

(A) help them to understand their

own shortcomings

(B) help them to change their

faulty behaviour

(C) make them capable of helping

themselves

(D) direct them about the right
path
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“geaft T oTe foha TR 7 R Y 19
W ?" g.l. W .......................... q.l.
SfEeER R TR.

(A) TR
(B) qeaHmMT
(C) 39ASH
(D) H¥ATT

BIATATRT  HIOE MsE  FATTSAT
AIYAEE! ATEYIS ATt 2

(A) HHE Hay-fasaes hived

(B) EYYU HIvTed

(C) Y AfRHT
(D) IMF JAATE Tgdid qM
Torenetn ‘ Anfes’ sHLvamn Taid Hexar

(A) = HHERA IS E0A A
H Ll

(B) T el 6 Searvdrd ST 7ed

HLO

(®)) I .l Hed H0IE HeH

Sfer0
(D) T AT ARTEE EYE ol




7.

The best method of increasing the

motivation to learn is :

(A) punishing inattention during

learning

(B) asking difficult questions while

teaching

(C) explaining, in the beginning,

the purpose of teaching a unit

(D) using a variety of audio-visual

aids

A research problem is primarily

chosen depending upon :

(A) its relevance

(B) available funds

(C) interest of the researcher
(D) availability of literature

Which of the following is a primary

source of information ?
(A) A research review
(B) A recently written text-book

(C) A research article published in

a standard journal

(D) A multi-author treatise pub-
lished in the year 2015
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(A) AT a8 A fqoaeea
IEIRCT

(B) AEATRTAN aee Yy fer=mo

(C) ¥ freRfavamniial Seer geardien
TS YOI

(D) fafae gFH-gred FEATAT AT
HLOl

TeleA ot fee & umeam
AT ST

(A) =T GHYehdeR

(B) Suetsy fAefieR

(C) ERNYHT=A ST

(D) UUHUCEAT STARIAER

TTATedeh! H3el Hifed =l Ho &
e ?

(A) HINEATET A 378

[ o

(B) Toda fafgcial urea-g&ieh

(C) gy FraderTfershd ufdrs geien
HIEERG(C]

(D) 3k AWhHT TdAfgetan 9 2015 Hiedt
yi9g Feen U9

[P.T.O.



10.

11.

A research report showed that the
population of a country increased
from 20 million in 1941 A.D. to 60
million in 2000 A.D. The study can
best be described as .................... .

(A) Factorial

(B) Social

(C) Longitudinal
(D) Cross-sectional

A hypothesis is not always necessary

normative

correlational
experimental
(D)

historical

Which of the following sampling

methods is based on probability ?
(A) Judgement sampling

(B) Stratified sampling

(C) Quota sampling

(D) Convenience sampling

9.

10.

11.
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T HYNYA STRATEIER, Tehl QI
AHEEAT 1941 ATETA S hiSl BT,
2000 Wil &l il Sashi wail. &A1

FAEE HAH 90
3 TR

(A) wTHE

(B) 9rHTfSToR

(C) reehredi

(D) se-wifed

YIS ST 3 ATE.
(A) FHONY

(B) WEHsHHS

(C) wamfuftad

(D) Ufeertees

Tt AT e Tgdiuehl vl g
“Harea" e e STe 2

(A) THeronenfid w91 fere

(B) & T fae

(C) wHI9 A1 fere

(D) g T e




12. Field study is concerned with :

(A) real life situations

(B) doing laboratory studies in the

outdoors
(C) experimental approach
(D) collecting selective data

Answer question Nos. 13 to 18
based on either the English

passage or the Marathi passage :

When a person claims to be non-
violent, he is expected not to be
angry with one who has injured him.
He will not wish him harm; he will
wish him well; he will not swear at
him; he will not cause him any
physical hurt. He will put up with
all the injury to which he is sub-
jected by the wrong-doer. Thus non-
violence is complete innocence.
Complete non-violence is complete
absence of ill-will against all that

lives. It therefore embraces even sub-
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12. 59 1IERN WIeiieiush] Shivwt TS

ffea eme ?

(A) T Egieerdt

(B) TAMRIGel WX &R eholal
Y

(C) TR gfewM

(D) fraes =ifedt wwem

U9 o, 13 ° 18 ¥ Ue feeiean Sar=mer

ATerTiia Ardd. guSitater feman

B Iararaiel gyl 3

;o

ST SIgEumeie a9l STH=T .
o 3w fago =@, wg &
STd SRd 39AF eRETEl’ e
TEH HAES CEETRR TR,
RISECIECES ICIECIURNEICTIRIE
AR e s Je WS 9,
O A &5 S’ TR, Hard
frgror enfor o § Sfd wewere wE
oahe 1% : TS/ Fleld ‘ EER
How SHed GEETAT SeRe e
SETECH HHled  fSHaM. a0 § %
TS TEHE. e ¥ afed el

[P.T.O.



human life, not excluding noxious
insects or beasts. They have not been
created to feed our destructive pro-
pensities. If we only knew the mind
of the Creator, we should find their
proper place in His creation. Non-
violence is therefore in its active form
goodwill towards all life. It is pure

Love.

Non-violence is a perfect state. It is
a goal towards which all mankind
moves naturally though uncon-
sciously. Man does not become
divine when he personifies inno-
cence in himself. Only then does he
become truly man. In our present
state, we are partly men and partly
beasts and in our ignorance and
even arrogance say that we truly
fulfil the purpose of our species,
when we deliver blow for blow and
develop the measure of anger

required for the purpose.

MAY - 00116/I—A
AT HI, A Th HIcUTh TITE!

foramar e, miefisten Sefes O e
A § TEd Ed, o fsws e
3. TR gd TgTel
TARIMES 3T FHCIREAT FEIdTe
FASIGY TE A S0EA d
IISTU S = Mfeheh’ TG &M
e HEd el 9 FEl FEcEd
TR IR S IS v
ey Ml Srefael gid. Tefist
m@ TAEA (equality) TETEl
3 VT O’ AT, T o SgEs
THURE (identical) A @I, U
o fod oM R R sred
‘I’ e wifest. FeEar Wit
TR SR HE 8. I TSI
e e Heall ool Bl R
foen o= fiavme §6 AR
fR1eromE qreRal A wel. ST e

sfor = Ayt UTHUT A
TRUIFAT SRR e | =1 wEd
e el R UM 9T Siverget
Hil B




13.

14.

15.

A truly non-violent person would

not even :

(A) take revenge upon his enemy
(B) have ill will for his enemy
(C) cause his enemy some injury
(D) destroy his enemy

The idea of non-violence concerns :
(A) progressive societies

(B) insects and animals

(C) God

(D) all forms of life

Which of the following statements

is true ?

(A) Complete non-violence is the

absence of will power

(B) Non-violence is pure love for all

whom we know

(C) All living beings have their

proper place in the universe

(D) A non-violent person is always

passive

13.

14.

15.
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TMefST SgEmEia g 9= L,
HR
(A) fomren fowmft I@ 79
(B) fovm wrias
(C) o 3aa foreomst sewahal

3R
(D) qEoA1 ek AT RS 3T
et fereqor snfor Eo ¥ o1id Hew™

(A) foem =R STavHRd A
B) fm= gemer sifess 99 319d
(C) faen faom= & e
(D) M ¥ f= wrEas o1

TS SMF PIACSKIT TG

gHAEAl 7 90 R0 WBUN

(A) TSI STaRYerern

(B) WSt gReeie often

(C) mefs=n J=mfiier gfteanro

(D) TSI Tedd forme vgw™
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16. At present, man is partly ...............

in his behaviour and attitude.

(A) beastly
(B) divine
(C) cowardly
(D) ignorant
17. Non-violence is pure :
(A) Perfection
(B) Love
(C) Generosity

(D) Consciousness

18. The most appropriate title for the

passage is :

(A) The advantages of non-violence

(B)

violent

©)

ideology

(D)

The spirit of non-violence

It is really possible to be non-

Non-violence as a political

16.

17.

18.

MAY - 00116/I—A
M TAETRdl WERet § TR
A, W IFEERAIA SoE @E
TrEfaa.

(A) qatd =, ITad SR

(B) Yeried sfie), SWUH e

(C) Wyl foum ==
(D) §YUl faum R

T S aReEcet T/ 318, T

TS AT HEha IR arel TguaTe

AELIHAT 3TE.

(A) ¥t faem =

(B) wyul faum sl

(C) Jaied a¥eR, STd I
(D) qatd =&, I SR

I IATATEIST STfeh WHUS ¥MAS®
HUT 2

(A) TETT HEhdl

(B) T g

(C) ©igey HHM

(D) Higes fosma
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19.

20.

In the context of face to face
interpersonal communication which
of the following is an incorrect

statement ?

(A) Verbal signs or signals are
more in terms of quantum and

variety

(B) Non-verbal signs or signals are

difficult to control

(C) In case of confusion over
meaning, verbal signs are

trusted less

(D)

Non-verbal signs or signals are

mostly involuntary

In which of the following types of
communication the potential for
getting quick, significant and

reliable feedback is maximum ?
(A) Mass Communication

(B) Group Communication

(C) Interpersonal Communication

(D) Inter-group Communication

19.

20.
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M HHRIHETA FHEANE HeaTe
HeHid Eeffader! v faem Sehr
Aqe ?

(A) vI=®Y o= a1 Tond gH |
Ifger SR 3THq

(B) 13 fa= a1 gomer == Sam
S I

(C) “HerT STffawe Tieres fmior sear

e ey &l fovard e

STl

(D) e fomg a1 gon g o

SAHATd

WTeATeTUeh! ShIvTeAT TRATIT FehId ST aH,
wguig i favamae gfadme/ g
THewar=l efmar gaifyes s/™d 2

(A) SH Hm9=
(B) T HIT9H
(C) SF HeKALd A (Fae)

(D) SH TEHHA HAA
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21.

22.

23.

Identify the incorrect pair of media
and its performance indicator from

the following :

(A) Newspapers — Circulation
(B) Cinema — Box Office

(C) Television — TVT

(D) Radio — ROD

In the context of FM Radio the
abbreviation FM stands for :
(A) Frequency Manipulation
(B) Frequency Modulation

(C) Fidelity Modifier

(D) Fidelity Modulation

The sitting arrangement in a
typical classroom in which students
face the teacher, encourages a

communication which :

(A)

facilitates easy interaction

among students

(B)

give more communicative power

to teacher for control

©)

give equal communicative

power to teacher and students

(D) facilitates a multidirectional

conversation

21.

22.

23.
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NN A

TERHIETH F SASTRUSI T =T ShrH AT
FeeTeR A= WeiTeTish! v St Heh
A ?

(A) g — famo (FRewH)

(B) fod1e — didw 3Aifeg

(a [aWaV

EA EAl

(C) Xferamft —
(D) el — MmN
Trer fesi=n geufd ‘Twuw’ @
el fosR s ?
(A) TRt Hf e

(B) el AT
(C) wEEferdt AffeweR

o0 (aV

(D) wrEEfed! Aregeiy™

T TR FHES ol remnins

qe HEA THAAT STHA. ST YR

G TATHes IVl TR HTTel

Hrewred fgesd ?

(A) foeneate Thashmeier Furso ored
9 | g

(B) ferersrtn gmaq wfsder faasron

AT ST ATYRR THesdl

(C) Toerer o fommeatan Saroreed THH
AfyR THesard

(D) wgfeer Fyrsomen e fiesd
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24. For a teacher what is the easiest

25.

and quickest location of getting the
students’ feedback in a classroom

situation ?

(A) Body language of students

(B) Questions asked by students

(C) The quality of class notes taken

by them

(D) Assignment submitted by them

on the topic

For the sequence, 1/2, 2/3, 3/4,

......

which of the following

is not true ?

(A)

The sequence is strictly increa-
sing
(B)

The sequence is bounded above

by 0.99

©)

The sequence is bounded below

and bounded above

(D)

The sequence contains no

number between 3/4 and 4/5

MAY - 00116/I—A

24. TwERAT ferarsdRT=AT TR Fidrd

25.

Tererfervaren Heuld wfadre a1 gemmo

v gaid 94 o Sde 3™ &id

HIOA ?
(A) TomneafHt gsien

(B) faeneaii fo=mee v+

(C) Taemeaii Sdoiean e

q

(D) faeneafi 9ex Sold T

1/2, 2/3, 3/4,

HEATHIHS! Eellelteh! Shivld foem e

e ?

(A) B H&AM HHY: dled SO
TR

(B) I TEAMAAA Ucdeh T&AT 0.99

e WIS e

(C) o IR s Feaae
TR SR Toh HE&AT 3718 9 A
Yk FEAUET HIdl SHURl Tk
& 3R

(D) 91 HEAHIIAA HIvEIE! F&l
3/4 9 4/5 HE &L
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26.

27.

Which of the following is not a

linguistic skill ?
(A) Speaking
(B) Reading
(C) Thinking
(D) Writing

Suppose that X is a set of some
real numbers. From which of the
following statements does not

deduce the other statements ?

(A) Between any two numbers in
X, there is at least one number

in X.

(B) Between any two numbers in X,
there are at least two numbers

in X.

(C) Between any two numbers in
X, there are infinitely many

numbers in X.

(D) If X contains at least two num-
bers then X contains infinitely

many numbers.

26.

27.
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e ?
(A) T
(B) 9= 0
(C) fo=r =y
(D) &@E HIO

AT X BT el drdd =] 99 3R,
TWTATAdSHT o] faymEsd gaX
faurr=l fagar <@ I wmEr ?

(A) X I1 FITdd HIUTHTET <14

TEAME, Tehadl T& X ALY 378,

(B) X T FHATAIA HIVIHTRl 19
TEAME, X At wHGHRH SH
I HAI.

(C) X T FATdIA HIUTHTRT <19
FEAHEd, X Aeid 3\d HEl

SAHdTd.

(D) X I 99 FHHGHRH TH &

TG, X HeH 37 G 319w,
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28.

29.

30.

There are 7 persons in a party. The
number of hands shaken all together
in the party counted with multipli-

city, cannot be :
(A) 5
(B) 6
(C) 10
D) 2

If two distinct circles in a plane are
intersecting each other, then they

intersect in :

(A) exactly one point

(B) infinitely many points
(C) at the most two points
(D) exactly two points

If the word PRINCE is coded as
151781324 in a code language, then
what should be the code for the word
KING in the same language ?

(A) 108136
(B) 119135
(C) 109145

(D) 118146

28.

29.

30.

MAY - 00116/I—A
Tl UEid 7 SOl oTed. A1 URiHE
THRIGHE FeF STeiedn grars]
A (IREARATER TS ) @efiadeh]

FIUT 3T TRd ARl 7
(A) 5

(B) 6
(C) 10

D) 2

JadATdrd 19 T4 THABRIA Bad
I

(A) THT B9 fog srem

(B) 3Ta v&A fog oT&amd
(C) S&fid &l & w5 foig srgam
(D) TH eTfr = B g oTeam

THT gishfaw i PRINCE a1
YR Hohd 151781324 3191 3@,
e 9o KING a7 SIS Hehdieh
w1 A ?

(A) 108136

(B) 119135
(C) 109145

(D) 118146
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31. Based on the following statements

which of the conclusion/s given

below will follow/s ?

Statement I :

Statement 1II :

Conclusion 1

Conclusion 2 :

(A) Only 1

(B) Only 2

All the bowlers of
my team are

wicket takers.

Varun is not a
wicket taking

bowler.

:Varun is a spin

bowler.

Varun is not a
bowler of my

team.

(C) Both 1 and 2

(D) Neither 1 nor 2

MAY - 00116/I—A

31. qera faumar=ar MeR wead®

Hoa(q) fows s Ja ?

faam™ 1 : 9= gudid 99 Meg

forhe wUM R

faam™ II : 9% 71 fame =

RISHS NI

el 1 : %o fRaRt TieieS TR,

froret 2 @ %0 A TUEA TS

&l

(A) B 1

(B) ™ 2

(C) 19 2 3rarel

(D) 19 2 Trare et
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32. Based on the following statements,

33.

which of the conclusion/s will

follow/s ?

Statement I : All apples are

mangoes.

Statement II : All mangoes are

bananas.

Conclusion 1 : All apples are

bananas.

Conclusion 2 : Some bananas

are mangoes.
(A) Only 1
(B) Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2

If the word FROG is coded as
719168, then what should be the
code for TRIP ?

(A) 21181016
(B) 21191017
(C) 2019917

(D) 2119916

MAY - 00116/I—A

32. qera faumi=ar ER wetads

33.

HIOTA(q) Frews Fred Ja| ?
faemm 1 : 99 gwEc ond 3TRd.

faam= II : 99 379 Shodt 2TRq.

frewel 1 @ Wd TwER S e
fremed 2 ¢ T dedl @ eRa
(A) T 1
(B) el 2

(C) 19 2 32

(D) 19 2 Srael At

Teh! Hiehfaes 9O S FROG & 35
719168 31 fdAfeaT, T <= 9o TRIP

I I Gehalh w7
(A) 21181016
(B) 21191017
(C) 2019917

(D) 2119916
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[P.T.O.



34.

35.

36.

Which one is the odd-one out from

the following ?
(A) FEG
(B) TSU
(C) NML
(D) RQS

Five players, P, Q, R, S and T are
playing cards on a table facing the
center. P is on the left of Q but not
a neighbour of T. S is on the right
of R and is not a neighbour of Q.
T is on the right of Q. Who is on
the right of S ?

(A) R
(B) P
©) T
D) Q

Which of the alternatives will com-

plete the following letter series ?
EGF, IKJ,
(A) MON
(B) LNM
(C) NPO
(D) MNO

34.

35.

36.

MAY - 00116/T—A
TTeATAehl ShIvIT JH1a SAUeT avel
R ?
(A) FEG

(B) TSU

(C) NML

(D) RQS

e ©edls, P, Q, R, S 3ol T ki
AIHIE U Eesd 3R P B QA
ST SIS[E EA 3, W @ T =1 S
& S 81 R=A1 3T Sf1S[ell S9ell 3T
q Qe IS AEL T B QT S
SIS SFeT 6. T ST I SS[H
I G ?

(A) R

(B) P
) T
D) Q

EATeTdeht shIOTdT 9aiy foetell &R Soft

o w2
EGF, IKJ,

(A) MON
(B) LNM
(C) NPO
(D) MNO
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MAY - 00116/I—A

Use the following table to 9T . 37 T 40 WIS WehS qFETET
answer questions 37 to 40 :
1 IUANT AT

Distribution of students at graduate o
Hd GEIAHTA qedl il ggegT

and post-graduate levels in seven

institutes : fereneta :
Institute Graduate Post-Graduate Heer ua?:ﬂ‘ R UL
M 17% 8% M 17% 8%
N 12% 15% N 12% 15%
0 12% 12% o) 12% 12%
P 13% 13%
P 13% 13%
Q 18% 14%
Q 18% 14%
R 14% 21%
R 14% 21%
S 15% 17%
S 15 17
Total % %
Number of SA feremet
Students 27,300 94,700 e 27,300 24,700

37. Total number of students studying | 37. N ST O a1 TEAHEN USSR faenet=

at post-graduate level in institutes TR T R e ?
N and O is :
(A) 5601
(A) 5601
B) 5944
(B) 5944 ®
(C) 6669 (C) 6669
(D) 7004 (D) 7004
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38.

39.

40.

What is the total number of
graduate and post-graduate

students in institute Q ?
(A) 8320
(B) 7916
(C) 9116
(D) 8372

What is the ratio between the
number of students studying at
post-graduate and graduate levels

respectively from institute R ?

(A) 14 : 19

(B) 19 : 21

(C) 17 : 21

D) 19 : 14

What is the ratio between the
number of students studying at post-
graduate level from institute R and
the number of students studying at

graduate level from institute P ?

(A) 13 :
(B) 21 :
(C) 13 :
D) 19 :

19

13

8

13

38.

39.

40.

MAY - 00116/I—A

Q I HEIWEA UGl S qESIR
foemeat=t wmo e ol e ?

(A) 8320
(B) 7916
(C) 9116
(D) 8372

R o1 H¥odtal ggegwr formmeff emftn
e ?
(A) 14 : 19

(B) 19 : 21

(C) 17 : 21

D) 19: 14

R o ¥did deegw faeneff emfor P
I G et fomnedt Aren we-
A U 1 S ?

(A) 13 :

(B) 21 :

(C) 13 :

(D) 19 :

19

13

8

13

20



Use the following table to

answer questions 41 and 42 :

Distribution of areas under various

MAY - 00116/I—A
99 . 41 FTUT 42 9IS Greted

AT YT HIET :

O3 T SIS FTeTel I

food crops.

S 1EAS I
Food Cro Percentage

P & g SSThaTel Saehal
of Area )

qiges 20%
Rice 20%

e, 20%
Wheat 20%

EIl] 10%
Barley 10%

SR 5%
Jowar 5%
Bajra 5% o] 5%
Maize 12.5% A 12.5%
Others 27.5% ERES 27.5%

41. If the total area under jowar is 1.5 | 41. SIR@mcia & S 15 A& THL A
million acres, what is the area under ™ W e &5 fedt ome 2
rice ?

(A) 60 <I& WY
(A) 6 million acres
(B) 75 @& Tk
(B) 7.5 million acres
(C) 9 million acres (C) 90 @& THT
(D) 4.5 million acres (D) 45 & U
21 [P.T.O.



42.

43.

If the production of wheat is 6 times
that of barley, what is the ratio
between the yield per acre of wheat

and barley ?

(A) 3 :2
B) 3:1
C) 12 : 1
D) 2:3

Which of the following is the
correct chronology of internet based

facilities ?

(A) Google, Hotmail, Facebook,

Whatsapp

(B) Facebook, Google, Hotmail,

Whatsapp

(C) Hotmail, Google, Facebook,

Whatsapp

(D) Hotmail, Facebook, Google,

Whatsapp

42.

43.

MAY - 00116/I—A

‘I%Ia ScIqH ST SAHIQA=A] Helbc

A, T TG AT S1edt A= gfd T

IR TR HE AIA 2

(A) 3 :2
B) 3:1
C) 12 : 1
D) 2:3

IS ARG Telta dai=n ag

FTATISRH hIvAT ?

(A) TS, BlEHA, HEeh, RegTq

(B) ®Yg®, T, BleHd, Regeid

(C) BieHd, A, ®hHeeh, ReqTq

(D) efehd, hysh, T, wegsia

22



44.

45.

46.

Identify the odd element from the
following on the basis of its basic

function :

Windows, Android, MS-Office, Linux,
Unix

(A) MS-Office

(B) Windows

(C) Linux

(D) Unix

What is the full form of PDF in the
context of computer file system ?
(A) Personalised Data Format

(B) Pixel Digital File

(C) Pictured Data Format

(D) Portable Document File

Which of the following is a ‘cloud
computing’ based data storage

facility ?

(A) Play store

(B) G-mail storage
(C) Drop box

(D) Cloud stick

4

45.

46.

MAY - 00116/I—A

‘7em !’ A1 TeRuTe SMER @rea

T A SHURT Sk STl

Windows, Android, MS-Office, Linux,

Unix
(A) wHuE AfHE
(B) Ty
(C) o
(D) Ffr

GIUThHTE = ge9id PDF 1

A&l faedX & ?

(A) THTETESE €2 WiHe

o

(B) fuae fef

(C) Tooered 2o wife

A e

(D) Ued SlRJA= WEd

TeieTdeh! IV o ‘FATHe hF’
TIAAER STERA €2 WIeaveh 9l
e ?

(A) ™ VISR
(B) S-Aa1 LIRS

(C) g9 died

(D) F&He Eidh

23
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47.

48.

Which of the following is the correct
statements in the context of web 2.0

facilities ?

(A) Communication on these facili-

ties is mostly one-way

(B) Content on these facilities is

generated mostly by users

These facilities are much more

(C)

cheaper to establish

(D) These facilities use more ad-

vanced distribution technologies

Identify the correct pair from the

following :
(A) Ubantu — Operating System

(B) Excel — Word Processing Soft-

ware
(C) AVI — File Transfer Protocol

(D) HDD — Cloud Storage Facility

47.

48.

MAY - 00116/I—A

‘I 2.0" Hfagren Heuld welierde]

g fauE @ R ?

(A) =1 Gfearereriel HATa Hedwe Thdh

19

(B) a1 gfasnada My qua<d

(e} LN N
Al cdiAle d4qiX encdcdl ANl

(C) =1 gfaen IURTl § &R A T
A

(D) =1 giaen Afees WA foaeo T
EIEIGIG]

TeAAdeh! aa el sfeen :

(A) 39 (Ubantu) — Srfen faedm

(B) THA (Excel) — a8 WHfHT
HIFEE3T

(C) TEIST™ (AVI) — WREA ITH
EICEA]

(D) T=EEt (HDD) — iS¢ Hiedu

gfaen

24



49.

50.

51.

A part of the large quantity of fly
ash produced in a thermal power
plant is used for :

(A) Soil conditioner

(B) Making bricks

(C) Road making

(D) Burning

is

World Environment Day

celebrated every year on ............... .
(A) 5th July

(B) 5th June

(C) 25th January

(D) 5th December

Which of the following Acts gives
rights to citizens to file cases against

violation of environmental norms ?
(A) Environment (Protection) Act
(B) Air Pollution Act

(C) Water Pollution Act

(D) Forest Act

49.

50.

51.

MAY - 00116/I—A

Nfeoreh YehedTd TIR HATAell hicssTTe
TG TG THTUG ShI0eT ShILOTETST STalelt
S

(A) TrTETS

(B) for dOr =ivamd

(C) T oo ot

(D) 399 =A

STTfash qeRu fead Sive areEd

g ISt FSRI Shell Sl ?
(A) 5 S

B) 5 S[d

(C) 25 el

(D) 5 fed

EATeTUeh! ShIUC] hTIETEE ARTERT]

TR0 JHIUR AT SecToTaRl Tl

qTE HLOATET AfIRR THeseien e ?

(A) TIERUT TI&IUT TS
(B) T USHUl HIAGI
(C) S JgHUl Il

(D) 99 TIHT el
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52.

53.

54.

Which of the following gases
is largely responsible for global

warming ?

(A) Sulphur dioxide
(B) Carbon dioxide
(C) Chlorine

(D) Ammonia

Which one of the following in not

non-conventional energy source ?
(A) Solar

(B) Tidal

(C) Geothermal

(D) Coal

Which of the following is the top

carnivorous animal ?
(A) Bird

(B) Snake

(C) Buffalo

(D) Tiger

52.

53.

54.

MAY - 00116/I—A

TEATCTUh! IV a1 SIATfaeh QT

IEH SRR ET HRUTYd Ted 7

(A) TR SRS

(B) e SHRIES

(C) AR

(D) st

WA IVl SF-TRATRE ol -&ld
T ?

(A) ¥R

(B) wdii-Sere

(C) y3hfourh

(D) =icdl

Eeicen! HIval J01 I=a HIEGYeh
AR ?

(A) Te&ft

(B) 94

(C) =g

(D) A=

26



55.

56.

57.

Which one of the following e-reposi-
tory is for doctoral research of

Indian Universities ?
(A) Dnyanganga

(B) Shodhaganga
(C) Bookganga

(D) INFLIBNET

Which one of the following agency
is to formulate policies of higher

education ?
(A) UGC

(B) MHRD
(C) NCERT
(D) NAAC

Which one of the following is
responsible for assessment and
accreditation of higher education

institutions in India ?
(A) UGC

(B) NAAC

(C) NCTE

(D) AICTE

55.

56.

57.

MAY - 00116/I—A

gRarg  foumdiesda o
GINYAEES! Eeilddeh! HITd 3-SR
e ?

(A) AFTT

(B) wiermm

(C) gFTM

(D) Al

TR IV HET ISATT&ToMTe
R Y=t & ?

(A) gefrt

(B) THTESARE!

(C) THHESTE

(D) T

TRATHS  STATUT=T Jeaiehrdl d

sfufeagdi=t SeEet Tetads

HIOTE AR ?
(A) FsirEt
(B) &

(C) wHifes
(D) T

27
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58.

59.

60.

As per UGC 10-point grading
system for CBCS, the letter grade

“A*” means :
(A) Outstanding
(B) Very Good
(C) Excellent
(D) Good

A unit by which the course work is

measured :
(A) Credit
(B) Grade
(C) Grade Point
(D) Credit Point

Which was the first open university

in India ?

(A) Dr. B.R. Ambedkar Open Uni-
versity

(B) Yashwantrao Chavan

Maharashtra Open University

(C) Indira Gandhi National Open

University

(D) Netaji Subhash Open University

58.

59.

60.

MAY - 00116/T—A
Ferdt=ar gg-fag  H1.&.ELTE.
TEAmE, AU AT mUS
(A) I
(B) tfasra =mren
(C) 3uH

(D) =TT

Theh i S I&TUTHATE ATUT &
q e

(A) ST

(B) &t

(C) Soft foig

(D) S foig

el afgel Hek foramdie v ?

(A) 1. d.3TR. 3TeEH o faemiis

(B) ATTAAE FSEI0T HERISS Had

fo=mds
(C) 3few e TE g fammdie

(D) warsit gum g foamdis
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ROUGH WORK
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ROUGH WORK
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